
 

       

 

8” HDPE solid base pedestal configured for expressing and splicing only 
(splice tray not included).  
P/N: FSPL08082537-1001-RS-ST 

 
Materials Needed: 

• (1) Splice Tray Holder 
• (1) 14” Velcro Strap 
• (2) Cable Clamps 
• (1) Ground Bar with #6 Tab 
• (1) 15” Ground Straps 
• (1) 8” Flat Bracket for tying of cables 
• (3) 8” Pedestal Splice Tray Brackets 
• (1) 16” X 16” Vapor Barrier 
• (2) Large Round Wire Saddles 
• (1) Medium Wire Saddle 

 
 
Subject to type availability. Some variations may have limited stock or may be subject to minimum order quantity. 

 

Hardware for 2 x 2 Kit Bag: 
(6) 1/4-20 x 1/2" Carriage Bolts  
(4) 1/4-20 Keps Nuts 
(2) 10-20 x 1/2” Carriage Bolts 
(2) 10-20 Keps Nuts 
(2) 8-32 x 3/8” Phil Pan Screws 
(2) 8-32 Keps Nuts 
 
 


